SEE HANDLE ASSEMBLY (FROM INSTRUCTION MANUAL)

(53) RH. (SHOWN)

* PLASTIC CORD BUSHING — INSERT FROM
UNDERSIDE OF TOP PLATE IF NOT ALREADY
INSTALLED.

MODEL STAR MANUFACTURING INTERNATIONAL, INC.
GALAXY CARTS SK1246 5/24/93 DR: BN




HANDLE ASSEMBLY

(4 REQ'D)
.'/0
P

A

NG
@ (6 REQ'D)

FOOT/STUD ASSEMBLY

R

MODEL STAR MANUFACTURING INTERNATIONAL, INC.
GALAXY CARTS SK1245 4/13/93 DR: BN




PARTS LIST

MopeL GPC-8, GPC-8AT, GPC-14, GPC-14AT
Number
Key Part Per
Number| Number Unit Description
1 1 BODY ASSEMBLY
2 2B-Y8574 2 WHEELS - STAINLESS
2 2B-Y4752 2 WHEELS - ANTIQUE
3 C3-Y8463 1 AXLE - 8 OZ. STAINLESS
3 C3-Y8576 1 AXLE - 8 OZ. ANTIQUE
3 2A-Y8526 1 AXLE - 14 OZ. STAINLESS
3 2A-Y8595 1 AXLE - 14 OZ. ANTIQUE
4 C3-Y8444 2 AXLE SUPPORT BRACKET - STAINLESS
4 C3-Y8583 2 AXLE SUPPORT BRACKET - ANTIQUE
5 C3-G8041 1 DROP SHELF ASSEMBLY - 8 OZ. STAINLESS
5 C3-G8055 1 DROP SHELF ASSEMBLY - 8 OZ. ANTIQUE
5 C3-G8043 1 DROP SHELF ASSEMLBY - 14 OZ. STAINLESS
5 C3-G8052 1 DROP SHELF ASSEMBLY - 14 OZ. ANTIQUE
5a C3-19122 1 SHELF SUPPORT ASSEMBLY R.H.
5b C3-19123 1 SHELF SUPPORT ASSEMBLY L.H.
6 C3-Y4737 1 HANDLE BRACKET - LEFT
7 C3-Y4736 1 HANDLE BRACKET - RIGHT
8 C3-G8063 1 HANDLE ROD WITH NUT INSERTS - 8 OZ.
8 C3-G8064 1 HANDLE ROD WITH NUT INSERTS - 14 OZ.
9 2V-Y8445 2 SUPPORT LEGS - STAINLESS
9 2V-Y8575 2 SUPPORT LEGS - ANTIQUE
10 C3-G8039 1 TIE ROD ASSEMBLY - 8 OZ. STAINLESS
10 C3-G8049 1 TIE ROD ASSEMBLY - 8 OZ. ANTIQUE
10 C3-G8042 1 TIE ROD ASSEMBLY - 14 OZ. STAINLESS
10 C3-G8051 1 TIE ROD ASSEMBLY - 14 OZ. ANTIQUE
11a 2C-Y8767 22 1/4-20 x 3/8 MACHINE SCREW
11b 2C-2581 8 1/4-20 ACORN NUT
11c 2C-1823 22 1/4" SPLIT LOCKWASHER
11d 2V-Y8464 2 AXLE SLEEVE
11e 2C-H2019 2 1/2" FLATWASHER
11f 2A-5401 2 3/32 x 3/4 COTTER PIN
11g 2C-Y4755 2 1/2-13 LOCK NUT
11h 2C-Y8568 2 5/16 PUSH NUT - RED
11h 2C-Y8569 2 5/16 PUSH NUT - BLACK
11i 2C-Y8570 4 10-24 x 2" COLLARED STUD
1] 2C-2559 4 10-24 ACORN NUT
11k 2C-1811 4 1/4"1.D. x .620 DIA. FLAT WASHER
111 2V-Y8648 1 BUSHING SLEEVE

IMPORTANT: WHEN ORDERING, SPECIFY VOLTAGE OR TYPE GAS DESIRED
INCLUDE MODEL AND SERIAL NUMBER-MINIMUM PARTS ORDER-$5.00

Some items are included for illustrative purposes only and in certain instances may not be available.

PAGE
OF

A

-
%ﬁi Star Manufacturing International, Inc.



http://www.partstown.com/star/sta2b-y4752?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2a-y8595?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/stac3-g8055?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/stac3-g8043?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/stac3-19122?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/stac3-19123?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/stac3-y4737?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/stac3-y4736?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/stac3-g8063?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/stac3-g8064?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2v-y8445?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2c-y8767?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2v-y8464?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2c-h2019?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2c-y4755?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2c-y8568?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2c-y8569?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2c-y8570?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2v-y8648?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2c-2581?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2c-1823?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2a-5401?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2c-2559?pt-manual=STA-GPC8_pm.pdf
http://www.partstown.com/star/sta2c-1811?pt-manual=STA-GPC8_pm.pdf

